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202 O 11,800 18,580 A6,780
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U&2ssE 2SI 0] 8,600
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S 4,300
OXNEZSRFE=2H+=0H] 3,200
= 1,600
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308 KNHXISHHMSOIE 154,950 151,070 3,880
= 154,950

01 MXEHHMBdELS 154,950 151,070 3,880
ONESRRA2AN =Lt 154,950
= 154,950

s (s ad) 151,500 65,000 86,500
= 145,500
S 6,000

201 2Bt 4,000 2,000 2,000
= 2,000
< 2,000

01 At22telH 4,000 2,000 2,000
O et=3Hl 4,000
OANZAF3AERUS 4,000
= 2,000
& 2,000

202 044 8,000 4,000 4,000
= 4,000
= 4,000

01 2UHHYI 8,000 4,000 4,000
OsEdSAE2E A2 0] 8,000
= 4,000
S 4,000

308 AXIEHHSOIA 139,500 59,000 80,500
= 139,500

01 UHXSHHBLdE2ES 139,500 59,000 80,500
OANzsgesgsygdd=2gid 34,500
= 34,500
OAZsEXEALESSIE 105,000
= 105,000

NA=sQELSIN=RNA(EX) 450,000 770,000 /320,000
= 450,000
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SN -EHH . (B) - MPAY - BE2 O] Ak 4 il b o HRE2
403 XX EHHIS KH2 0l ® 450,000 770,000 £320,000
2 450,000
01 KXISHHX=EE 450,000 770,000 £320,000
OHnRASSS2AHY 400,000
& 400,000
BEVENENEIGEEEEYEY 50,000
= 50,000
NHEHGRSI U EL (N SEXCALE LSS 600,000 375,000 225,000
)
= 600,000
403 AXIHHSKA=201H 600,000 375,000 225,000
= 600,000
01 AXESMIA2E = 600,000 375,000 225,000
EbEEEEESETESE 600,000
2 600,000
NS ASEZ2IHLAIS 60,000 60,000 0
403 XX EHHIS K20l ® 60,000 60,000 0
01 RXESHMA2E = 60,000 60,000 0
OXNGSASHHSIHLAIYE 200,000,000 *30/100 60,000
Ed=sHIIetxy 600,000 300,000 300,000
403 XXM SA201H 600,000 300,000 300,000
01 AXESMIA2E = 600,000 300,000 300,000
DRSB0MSSANLLT 600,000
sgelNsI|IgEY 40,000 60,000 A 20,000
403 X HMESAH=01H 30,000 0 30,000
01 RXCSHTZDE 30,000 0 30,000
(SRS SHTALYTY S 30,000
405 XtobE SHI 10,000 10,000 0
01 T =SS FH SHI 10,000 10,000 0
OsgeusX&Ed 2 10,000
QIHYYS2IYHB=ME 332,000 274,500 57,500
= 90,000
& 242,000
101 @121t 9,500 9,500 0
04 JIZHMIZE2XNSE = 9,500 9,500 0
Do sEYET LY
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02 2234l 86,000 74,000 12,000
O2223ZAA 6,000
OLEXNHEEZ ASIUAN, SHSS 4,000
OLdSsSTHIEEZ 2,000
A& EHIK XL 72,000
OYSEIHIEH RN E | 48,000
OgsHEAEHI S A 24 24,000
IR & 2Hh| 8,000
OgEEIXNHR AL 8,000
202 044l 11,500 13,000 21,500
01 =Wl 11,500 13,000 A 1,500
O YESEHA2H I 11,500
207 ALK 30,000 0 30,000
02 & &HHEH 30,000 0 30,000
CIGBTVE I OI X O & 30,000
308 XX HHSO0IA 9,000 0 9,000
01 XM EXS 9,000 0 9,000
OTEHSTV(IPTV) RS A E
6,000,000% x5J1 £ *30/100 9,000
405 AHoHESHI 130,000 142,000 A 12,000
&2 90,000
= 40,000
01 HARESFSH 130,000 142,000 A 12,000
CITE U S S A AR S 2(01) 130,000
= 90,000
= 40,000
XNEEs =)= 2B BN (sLI)=E2=28E 145,000 171,900 A26,900
at)
= 130,000
L= 15,000
101 Q14| 30,000 27,000 3,000
= 15,000
& 15,000
04 JIZHMIZ2XESE = 30,000 27,000 3,000
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3 13,900
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2 1,100
S 1,100
308 XXl EHXI SOl H 115,000 144,900 /29,900
2 115,000
01 IXSHHMBNEES 115,000 144,900 29,900
DX Ssise)lsd 2mBsole X 2 115,000
2 115,000
sSE FH20d oy 2,180, 150 1,875,825 304,325
= 1,153,600
3 1,026,550
SQOISSARY 539,250 419,550 119,700
203 PRFEY| 3.000 3,000 0
03 AlMETARFTY| 3,000 3,000 0
O SHSELRET 3,000
308 XXl EHHI SOl H 224,250 246,750 22,500
01 IXSHHBMNEES 224,250 246,750 22,500
Osgee232saXE
40,0002 *14, 0005 +30/ 100 168,000
O4-HASE 2SN
5,0002 *2,500% %30/ 100 3.750
OsYOIEH 24325122 (X=X 4-H)
2,000,000 *5024x30/ 100 30,000
SEXNE X EUE &I X2
30,000 5,0002 *15/100 22,500
403 [XISHHS K0 H 312,000 169,800 142,200
01 MXSH2LEE 312,000 169,800 142,200
(12 S 4-HEHX A &4 31 DR AL
5,000, 000! 157K 230/ 100 22,500
OSEXNCHENMADHESS
5,000, 00024 %22JH £ %30/ 100 33,000
OsEX SR L SHALY 126,000
(2 54-H3| 2= M5 I ZDHRI014 (01 )
10,000, 000! x227H 2 %30/ 100 66,000
()8t 444-H3| 2 D I 2 S X2 (01)
2,500,0002 *467H £ %30/ 100 34,500
(sl nS+2 NS H VA
20,000, 000! 57K £ %30/ 100 30,000
S NSEHLS 295,000 191,800 103,200
403 RHXI A S K01 A 295,000 191,800 103,200
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= 310,000
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Osgeist2dg 310,000
= 310,000
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= 17,600
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= 17,600
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SENENSLH D= 17,600
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= 99,000
& 1,500
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10 EAIAHIE A= 3,000 2,000 1,000
SSEsgUAA2AHI 2 3,000
= 1,500
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308 MXIHHSOIH 97,500 42,750 54,750
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OS=Esgoa22ed=sd 97,500
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= 2,000
= 2,000
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= 3,000
& 3,000
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= 2,000
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01 =Wl 1,000 1,000 0
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301 Et24 = 20,000 25,000 25,000
= 10,000
= 10,000
10 HAAHIZ &3 20,000 25,000 A5,000
OIS S SABIDS S AEIS 20,000
= 10,000
& 10,000
308 MHXIHHMSOIA 31,500 33,000 A 1,500
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A sgl|=d A=A
Ha: =ESN A (SUNSEM/ S . SE)
Sel: SE HMR0IR UX (el @)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
10 SHAIAIHIE2 &S 31,500 27,250 4.250
O9sJlsYsIiAH Ml 31,500
HY2AAH| (s = KNESHZMW)(D|EHDIE 71,327 80,467 A9, 140
oled2AH| 57,577 55,167 2,410
ol AY| 57,577 55,167 2,410
101 @l Ay| 57,577 55,167 2,410
03 RIHEZZXNE 57,577 55,167 2,410
OAMNEEX 57,577
OPIE=T=: 38,850% *x3H x249L 29,021
Oa 2 29,020,950 *1/12%400% 9,674
OFssY 38,850 x3% 52! 6,061
OAX== 38,850 x3H x19L 2,215
o224 38,850 x1. 538 8 1,399
OAZ2IIZ224%
38,850% *1/8%1.5%x3%H x4 Al 2t+x36 L 3,147
O=&0H| 2,550
(@NIE=1s] 450
OnEEXH| 60,000& x3H x12& 2,160
OYESOHI 150,000 *3H 23| 900
J 13,750 25,300 A 11,550
S224H| 13,750 25,300 A 11,550
405 XHAFF SHI 13,750 25,300 A 11,550
01 XA Z2EF S| 13,750 25,300 A 11,550
O & 2IHH| el 1,000
CIPC(5CH) 7,250
2 AE S| 500
O XNEAD 2L 5,000
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